X mg L-DOPA/1 kg = X mg L-DOPA/(sum body weight (BW) of all rats in study: e.g., 30 rats @ 400 g each = *12,000 g)

Target dose: 12 mg/kg or 12 mg/1000 g

12 mg L-DOPA/1000 g BW = X mg L-DOPA/*12,000 g BW

X = (12 mg L-DOPA)(12,000 g BW)/1000 g BW

X = (12 mg L-DOPA)(12,000 g BW)/1000 g BW

X = 144 mg L-DOPA 

Target injection volume: 1 cc/1000 g BW (with 12 mg/L-DOPA per cc)

12 mg L-DOPA/ 1cc = 144 mg L-DOPA/ X cc sterile saline

 (X cc) (12 mg L-DOPA/ 1 cc) = 144 mg L-DOPA

X = 144 mg L-DOPA/12 mg L-DOPA

X = 12 cc sterile saline

Daily stock solution: 144 mg L-DOPA/12cc saline

